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6. Do notwrite your name onany part of the question booklet
or on the answer sheet.

7. Rough Work can be done in the space provided at the end
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Class - VIl

There are 90 questions in all. For each question
four alternative answers are given marked as
(A), (B), (C), (D). From these, find the most
appropriate answer. The number denoting this
answer is there in the answer sheet against the
question number concerned. Darken the circle
with Blue/Black Ball Pen only. Record the
answers thus in the OMR answer sheet only.
Do not write anything in the question booklet
except your Roll Number on the cover page and
rough work in the space provided for the purpose.

Directions : (Questions 1 to 5)

These questions are related with coding and
decoding.

1. If D=4 and DAL=17, then DIET=.....

(A) 19 (B) 35
() 39 (D) 40

2. If ‘LOVE is coded as ‘JMTC’, then ‘KIND'
in the same code is coded as:

(A) 1GMC (B) IGLC
(C) IGBL (D) IGLB
ENG+MAL

MAT

c

@YOS: 90 @2103)MIKIN) OaieBRM. B8R0
calogyoilmgo (A), (B), (C), (D) agom
@RS WIRAQSIEEIQ Moel Ay SAMETBG
afl@o admos arlglens. apul® agpuo
BRMEWORIMIW B0 OBV HMBallSIHn d.
0D 9EMEO®®  dhOlENIM maud
2EMOLOSLIMIG @®On) &al0gierlleomailen
o6nd. @7 maud arsesle aljemoe miel
RO BIM @OYed Aelwies IR Gald
9oty  &Olaflenys. gemeemd
@ laldHo®o OMR gomasnseloqvl@d moimo
CRAUOQS) MM . G2J0B)MMD @PS&Elw
aslo sud cudlm diasgins ¢0odd
MMUdlo, Oafi AUASHIM) euedl mIISIEs
MUORIED  MSEDYM  HiGlafidb@d  aYled
AORIMIo ag)FIBRYE.

widequete@d : (e210B)em@ 1 a;mad 5 auew)

80 €.210R)E¥BGD @oUSlot) - AWledx00Slounmol
IO SII6NT.

1. D=4 90 DAL=17 90 @M. nf): @

DIET=.....
(A) 19 (B) 35
(C) 39 (D) 40

2. ‘LOVE ogma)’ ‘JMTC ag)am’ cmoy

0 LDaldlaeim). ne®m eHouilad ‘KIND'

6N 8o 6).2)W®OMD :
(A) IGMC (B) IGLC

(C) IGBL (D) IGLB

P.T.O.
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‘QERY™ "How is ‘KUMAR" written in the

same code ?
(&) OYQEV ® NYQEU
(C) OYQEU (D) NYQEV

4. If A=1 and ANT=11420, then ADMI=___.

141310
14139

(A) 141410 (B)
(C) 14149

5. If'DELHI is coded as ‘EFMIJ’, then ‘SIMLA’

is coded as :
(A) THNMB (B) TINMB
(C) THMNB (D) TJLMB

Directions : (Questions 6 to 8)

Read the following information and answer the
following questions.

‘P+Q’ means ‘P is the daughter of Q'
‘P X Q" means ‘P is the son of (',
‘P—( means ‘P is the wife of Q.

6. If AxB—Cisgiven, which  of
following is true ?

(A) Cis the wife of B

(B) C s the father of A
(C) A is the daughter of B
(D) B is the father of A

the

ENG+MAL

WAL

3. In a certain code ‘MANU is written é}s

7 c

3. an) lalemyd saoallal, ‘MANT' ag)rm
ag)9iealdlesima’ ‘QERY’ ag)(mosm.
@b em eaoalad KUMAR' agsosexD
agy9imio ?
(A) OYQEV

(C) OYQEU

(B) NYQEU
(D) NYQEV

4. A=1go0 ANT=11420 po @pem. ag@ad,

ADMI=....
(A) 141410 (B) 141310
(C) 14149 (D) 14139

5. ‘DELHI' @@ ‘EFMIJ’ oy G&0a)
oo wldenim;. ag@l@ mem dlwilic
‘SIMLA’ Ul 6ol

(A) THNMB (B) TINMB
(C) THMNB (D) TJLMB

mldeguremad : (ealoaiemd 6 a)ma § Ae)

apneswies alloueemdd eemymdlal emarigies
C2I0RIEIBRINS HEMMO af)PIM .

P+0Q’ agymoad ‘P woemy Q allexd asd’.
PxQ agmoad ‘P woeni Q aflex) mdnd’.
'P—Q’ agymoad ‘P @oeny Q aflend eomy’.

6. AXB-C agm amilgesmesld ajoues
‘adbosjoldleaymalaiad s ?

(A)
(B)
©
(D)

C woem B @ies @aqy
C @oemi A wies @w.glod
A @o6m B @ies @and

B woem’ A oS @RgJ0d
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7

T—SxB-M is given, then which of the
following is not true ?

(A) B is the mother of S
(B) M is the husband of B
(C) +S is the daughter of B
(D) Tis the wife of S

If ZxT-SxU+P is given, then what is the
relationof Uto Z ?

(A) Mother
(C) Father

(B) Grandmother
(D) Grandfather

Directions : ( Questions 9 to 11)

Read the information given below and answer the
questions from 9 to 11.

)

(i)

(iif)

(iv)

Abi is older than Bala.
Cibi is elder than Abi but younger than Dali.
Dali is elder than Bala.

Bala is younger than Cibi.

(v) Edi is the eldest.
9.  Who is the second eldest one ?
(A) Dali (B) Bala
(C) Abi 0y Cibi
10. Who is the youngest 7
(A) Dali (B) Abi
(C) Cibi (D) Bala
ENG+MAL

MAT

c
T-5xB-M agmn” marilgiend. ag)eldd
aljales emigigaaidlad wndogoeme
ag® ?
(A) B woeniS o @oan
(B)
©
(D)

M @gem B wies sdemoas
S mrer B @)es aljl@l
T @oeri S ) @)

ZxT—Sx U+P mariigiens. agelad, U ooy
Z 0owas erumbo ag(rs ?

(A) @oam (B) @mopiom

(C) @n.gjid (D) ®@majia]dd

midequemd : (82106 6B 9 & M@ 11 (Wae)

aesees allalesmeales @pSmnImesod
9 oj@d 11 (UOEWIER Gal0BIERAINS DB

ag) eI .

Q)
@)
(i)

()

10.

@ enllee) 61D RIG BN D

b lSIBRI0E).

[alo®@o

milenl86) @renllcanddd (o@dMs.
agyrmoad, awoeflle@dnodd oo &I0Io8.

aorlw'es’  UORICEANID  (ald®o
h)SIBEIDE.

oawasn miledlowenod  (alowo
OO,

aguslooeny’ afRaile lnlowmes Eood.
ld@amioualel  |ald@EnISimenes
ENBODOETD ADWR @6 ?

(A) cwoell (B) enuoel

(C) @nend (D) flenf)

QAo (lo®@o éOemHm @poosny ?
(A) cwoell (B) @wendl
(C) odlendl (D) erudel

P.T.O.
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11." Agewise who is in the middle ?

(A). Dali (B) Bala
(C) Abi (D) Cibi

Directions : (Questions 12 to 16)

Study the following figure carefully and answer
the given questions.

Keralites

N
<)
Singers

12. Which region represents singers who are
neither Keralites nor actors ?

(A) 4 (B) 5
© 6 (D) 7

13. Which region represents Keralite actors who

are singers ?
5 (B) 4
< 3 (D) 2

14. Which region denotes Keralite actors who are
not singers ?

(A) 5
(© 3

(B) 4
(D 2

ENG+MAL

C

"Hl alomammdlel omsilld  EMm®

@onoem ?
(A) qwoel (B) 7 ona
(C) @wenl (D) adlen

wdeguwetad : (@.al0B)eBRM 12 o 16 we)

apausswige allimo aldlal 2BUOS@ISE
C.0I0R)EMAIAS HAMDO ag)FIERH.

@@ cM@OLH WD

7] 3

175 Ty

6 7
105100

12. GHO8HH0ER0 AREIGMMOLHERD @OLIIOID
alogie:060 Mviailafleaimm Bowme agymosr ?

GHOBHINOD

(A) 4 B) 3
© 6 (D) 7

13. al95)dhd02W CHABHNONIW
anElemnmosnes avlallaflenim oo
agy@oeny ?
(A) 5 (B) 4
© 3 (D) 2

14. al05dbo0L|omm BHORHHOVOW

aedlemmosnng auyallaflanim s8owo

ay@moany ?
(A) 5 (B) 4
<) 3 (D) 2
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15. Which region represents Keralite singers who

are not actors ?
A) 4

<) 6

16. Which region represents actors who are

(B)

MAT

5

D) 7

neither singers nor Keralites ?

(A) 2

(C) 6

®)

(D)

3

7

Directions : (Questions 17 to 19 )

When the words are arranged in alphabetical order

which one comes first ?
17. (A) Wrinkle

(C) Waste

18. (A) Grdat

(@) Grease

19. (A) Pldne

(C) Player

ENG+MAL

(B)

(B)
(D)

)

Wasp

War |

Greet

Grind

Plain

15.

16.

c

@REIGMBISR| 00D AR LN
105060 Mjafla lanin eowoe agymoen ?

(A) 4 - B o

© 6 (D) 7

al0g)dh0GM0  CHDEHHICRI  @RL OO
ardlemmosneg myallafllenimm @io
afmoeny ?

(A) 2 ® 3
© 6 D) 7

mldeguer® : (e.aloaiemecd 17 mmad 19 cuer)

QUOHN D ERLH OOMOLI (B> (O (B3 | oD
(BB EH08MI0d @DRIe AUIMEY aR®) ?

17.

18.

19.

(A) Wrinkle (B) Wasp
(C) Waste (D) War
(A) Great (B) Greet
(C) Grease (D) Grind
(A) Plane (B) Plain
(C) Player (D) Place

P.T.O.
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Directions : (Questions 20 to 24)

MAT c
mldegueand : (e.n1oe a0k 20 @y 24 UO®)

The first two words indicate a certain relaticnship. | @oo 3|60 Q6NS (UoBN]dd  BaY @Y S

Pick out the suitable word from the choices given | @@l @n<lcrun s ol ol
which indicates the same relationship with the eUMLEQSI @] $6)My). DLIOL6 ETD QRSO M
third word. ORE @R Y16 h an<launomen @

20,

21.

22,

23,

24.

Water : Oxygen : : Salt: 7
(A) Magnesium (B) Vitamin
(C) Sodium (D) Taste

Rectangle : Diagonal : : Circle : ?
(A) Radius (B) Perimeter

(C) Area () Diameter

Mars : Earth : : Neptune : ?
(A)  Uranus (B) Pluto

(C} Moon (D) Mercury

Distance : Metre : : Weight : ?
(A) Gram (B) Kilogram
(C) Pound (D) Quintal

Joule : Energy : : Pascal : ?
(A) Volume (B) Density

(C) Purlty (D) Pressure

ENG+MAL

BLCWHQ SIEMOORM aRR0ile @BMIEZWIEGDID
CUODHE) HTRETTMSY6)jck.

20. ealggo : RAHMIRM - : Hal: ?
(A) emuirlayio (B) eecugdlad
(C)  emoslwo (D) e

21. al®ec : allademe :: aly@mo @ ?
(A) @0 (B) aupaos
(O aloggal (D) agomo

22, @21y : el :: emalsyend : ?
(A) ooommd (B) gJaes0
(C) almad (D) en1ywoad

23, m@wo : digd : : @omo : ?
(A) W0o (B) slgalomoo

(C) altvens’ (D) anflopad

24. it @9dmo  : alomiwead ; ?
(A) sessql (B) mome

) opavm (D) adao
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Directions : (Questions 25 to 29)

Find the missing number in the number series.

. 26.

a5, 6, 13,21, 30, .......
(A) 37 (B)
<) 39 (D)
9 258 e
(A) 90 (B)
(C) 136 (D)
27. 17,139, ........
(A) 7 (B)
© s ©)
28, 4,9,19,.39, ...
&) 79 (B)
(C) 80 (D)
29. 1, 9.25.49, 81, ........
(A) 100 (B)
(C) 121 (D)
ENG+MAL

38

40

127

243

78

81

112

144

C

(ToosU)

MAT
mldeguened : (8.a1a)6mewd 25 a)mad 29 cuen)
moadsemloioa  allgealow
HEVETBOT0 ko,
25. 6,13, 21, 30, ........
(A) 37 (B) 38
(C) 39 (D) 40
26. 9,27, Bl, ........
(A) 90 (B) 127
(C) 136 (D) 243
27 17,13, 9, i
(A) 7 (B) 6
© 3 (D) 4
28. 4,9,19.39, ..
(A) 79 (B) 78
(C) 80 (D) 81
29.. 1,9, 25, 49, 81, ...
(A) 100 (B) 112
€ 121 (D) 144

P.T.O.
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Directions ; (Questions 30 to 34)

Find the missing term.

30. D8T,G12Q,T16N,Me

31.

32.

33.

34

(A) N207J

() P20K

(B)
(D)

AYD, BXF, CWH, ......

(A) DUJ

(C) EV]

(AY 72120

(C) 72720

CK BL Nosan

(A) T

(C) MH

» CD, FGH, JKLM,

(A) NOPQ

© oPQRs

ENG+MAL

(B)

(D)

SCuu)eE1L 18 316 |...

(B)
(D)

(B)

(B)

(D)

M20 L

M20K

DV]

DUK

36120

36 ] 22

OPQR

NOPQR

MAT
midageosedd : (e.oloaysmBd 30 o mad 34 aleo)

10

flgi8al0® alBo HEaEMEEHid.

30.

31.

X

33.

34,

DST,G12Q,J 16N, ..

(A) N20]J

(C) P20K

AYD, BXF, CWH,
(A) DUJ

(€ EV]

3C10,6E12 18 G 16, .....

(A) 72122

(C 72J20

CK FJ LI, ...
(A) TI

(€ MH

CD, FGH, JKLM, .........

(A) NOPQ

(C) OPQRS

(B)

D)

(D)

(B)
(D)

(B)
(D)

(B)

c

M20 L

M20K

DV]

DUK

36120

36] 22

M]

. UVWXYZ

OPQR

(D) NOPQR
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Directions : (Questions 35 to 38)

In questions 35 to 38 which set of letters when
sequentially placed at the gaps in the given series
shall complete it ?

35. _bc_ca_aba c_ca
(A) abbac (B) abcbb
(C) bbbcc (D) bacba

36. _bc_b_abc_ba
(A) acac (B) acbc

(©) aacc (D) aach

37. TP-9-PPACPIFP

(A) prpp (B) prpq
(C) qrqq (D) rrpq

38. _qpp_pP_PPd_
(A) parq (B) ppap
(C) aqgrp (D) P99P

Directions : (Questions 39 to 45)

Choose the word which is not like the other words
in the group.

39. (A) Triangle (B) Rectangle
(C) Square (D) Diagonal
40. (A) Football (B) Volleyball
(C) Chess (D) Cricket

ENG+MAL

mldegueand : (6.a100 aedd 35 ajma 38 cuen)

35 mymed 38 wee eoiogieRgld  ofa
BRANOEBR (HoeHldd all5ieald® BINEM)
aumodd @ egyenl aldemmodsio ?

35. _bc ca_aba_c_ca
(A) abbac (B) abcbb
(C) bbbcc (D) bacba

36. _bc_b_abc_ba
(A) acac (B) acbc
(C) aacc (D) aacb

37. qrp_q_ppqr_p_IpPp
(A) prpp (B) prpq
(€) 4qrqq (D) rrpq

38. _qpp_pP-PP9-
(A) pap9q (B) ppapP
(©) agpp (D) paqp

mldegueamad : (c.aloeiammcd 39 ajmad 45 Ieo)

earldleaymaaiad oo sgemldaan]soemo
OB,

39. (A) (afledosmo (B) .al@mmo
(C) maampwe (D) alddemo

40. (A) amsaeniod  (B)  ecuoglaeruodd
(C) eaimy (D) leeg

11 P.T.O.
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41. (A) Thoothukudi 41. (A) oiEmens]

(B) Mysore (B) eenmuyd

(C) Cochin (C) ol

(D) Vishakapattanam (D) adlkedsualgemo
42. (A) Lion - (B) Tiger 42. (A) @floano (B) o»SiU

(C) Horse (D) Giraffe #2000 (D) &lodad
43. | (A)  Think (B) Taste 43, (A) alanroe (B) ol

(C) See (D) Smell (C)  Hoemidn (D) aemo
44. (A) Gangtok (B) Bhuvaneswar |44. (A) ooiesos  (B)  @icuemuald

(C) Madurai (D) Mumbai (C) mwim (D) moeereru
45. (A) January (B) May 45. (A) zmOUd ' (B) cow

(C) July (D) Nowvember (C) =meea (D) mauosru®d
Directions : (Questions 46 and 47) mldaguremd : (6.aloa)smcd 46 1)@ 47 (UOD)

Which answer figure completes the blank region ? | mamlg es caloayoriles evlesm ‘0o
adorfleosancd peme alimedles ape’ @mo
Oalewocilando ?

AT IRRERAY
= ? = ?
Answer figures : MO 26T :
=l | b | | ] e = [ ]| =]l
(A) (B) ©) (D) (A) (B) © (D)

ENG+MAL 12
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‘B8 [TRE

Answer fgures: | oomo ateesd

oo lloe]] PRIl

@ e 0 o @w  ® ©. O
4. |48, af@onid agie waLGI MBossER

How many cubes are there in the figure ?

(8) 9.
<) 10

e
kg i
1B H A
x
3
- 1
I.-' -
1

(B). 12

(D) 8

Directions : (Questions 49 to 51)

Which one of the figures does not belong to the

group ?
&, AO| [0
A
AQO| QA
(A) (B) (©) (D)
ee AL

. 49. &O o 5
13

L 2
v b
¥ T
} i L |
'1_'4 [ Foa )l o £
P | -
4

e ?

‘.'f*.r'
(A) 9 B 12
S (© 10 (D) 8

wildeguenadh : (s.aloaiemach 49 n;amﬁ%l aen)

modiges alimengld a;;gmg:msammmi‘
ROBNTTT EIETRET)E ? :
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RElolZzien=Siol«le
(A) (B) ©) (D) (&) (B) ©) ©)

TV [T X e
w  © (D) @ ® © ®)

Directions : (Questions 52 to 55) mdegueadd : (ealonmmod 52 ajmad 55 auen)

Read the information given and answer the | ajjuas m@alalgies allcuesamsd ool

guestions given below. amqflendgs] apAUOS®WIss C.oJIR)MREINS

HEMRE af) LI 1.

Raj, Saj, Taj, Vaj and Yaj are sitting in a row not | @osd, avogd, soed, cuoe, wod agyMilUd emy
necessarily in this order. Also Saj is between Yaj | cudlafled el sndleamael B N
and Taj and Saj is to the right of Taj. Vajis between | Mpsemeoanm’ mldeumwalg). &soe® aoE
Raj and Yaj. dlenima woglmlo SoFImio MSWEHHOEM.
mowaop moz  @deoymae’  soHleon
cualmaiceEmmoeT. (o sodlenymal Roslnio
wogflingo snsissnaeny,

52. Who is sitting in theast position ? 52. aldloid mvaimomdldanimael epeoeny ?
(A) BSaj (B) Vaj (A) oz (B) cuogd
(C) Yaj (D) Taj (C) o (D) sos

53. Who is sitting in the second position from the | 53. as#eEl@d aflom eeneoamoe sodleaimal

starting ? @godeNy ?
(A) Saj (B) Vaj (A) oogd (B) cuogd
(© Yaj (D) Taj (€ woad D) sosd
54. Who is in the middle ? | 54, aweoneml odleaimael apaoen ?
(A) Saj (B) Taj (A)  roost ®) sost
) Yaj (D) Vaj (C) wosd (D) cuosd
55. Who is sitting in the first position 7 55. adldi® epae godlenymae aprosnd ?
(A) Raj (B) Vaj (A) oo (B) cuosd
(C) Yaj (D) Saj C) wosd (D) aroosd

ENG+MAL 14
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Directions : { Questions 56 and 57)
You are given a figure (X) followed by 4 alternative

figures (A), (B), (C) and (D) such that figure (X) is
embedded in one of them. Find it from the 4 figures.

56.

57.

58.

fig. (X)
ST T [
L1 | L1 11
(A) (B) (©) (D)
fig. (X)
(A) (B) (©) (D)

A square paper is folded in a particular
manner and a hole is made by using a punch.
When unfolded the paper appears as shown
below :

Q c
o o
C o
o] o

Find the manner in which paper is folded
from the alternatives.

o

2

(A)

ENG+MAL

(B)

©

o

MAT
mldegurstRad : (€016 ARG 56 @)m@ 57 cuen)
mem@es e} alliwe (X) eariidleaniomy. asdomy
4 moeoenuaw alli@eed medalaiigiens, ecunia,
an) af@odld ao@o (X) all@e aldepaoai
pde ajdomilgens. @oe HEeNBEDIH.

15

56.

c

57.

58.

aflwo (X)
+ T[T
L4 (- N
(A) (B) © D)
aflme (X)
(A) (B) (€) (D)
80} (0.2 MR8 e 6r) lnIew)d Clalais

asdfl. @sdmy dalo|d alem! Hale@ouilsy
an) aloedls). ealgd alladomloegod
pIElg) MM 2NOIOS SEISKEEldleanMy.

4]

Q2
O

Q
ag)®:1@d af) lnd 20 mo6my Galo]d
DSHFWEMmMT 21JUOS HdhISEIC 86 -
ool aflom’ ez )ds.

C Qo0 0

(A)

(B)

©)
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Directions : (Questions 59 and 60)

Four different positions obtained while throwing a
dice are given below.

(iii) " (iv)
59. W]-ur:h number is on the face opposite to 6 7
(A) 1 (B) 2
© 3 (D) 4
60. Which number is on the face opposite to 2 ?
(A) 3 (B) 4
(C) 5 D) 1

Directions : (Questions 61 and 62)
These questions are related to ranking/order.

61. Lee ranks sixth from the top and twenty fifth

from the bottom in a class.
students are there in the class ?

How many

(A) 29
(©) 31

(B) 30
(D) 32
62. Ris is thirteenth from right in a row of 40
students. What is his position from the left
end ?

zﬁth
zath

(A) 25th
(C) 27th

(B)
(D)

ENG+MAL
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c

wIdegurem@ ; (8.0106,608G 59 amad 60 AIS)
ae) eswm agdlermeejodd aEla] moel

U@y N2 MEmoeM’ 23016Ss
m-:a%a;]@ﬂdtmgmm‘
(i) (i) (iv)
59. 6 ng}m moal@ias afladle oieueD
QU UoBY)) af® ?
(A) 1 B 2
© 3 D) 4

60. 2 ag)m mosj@es AUllal@l® @IEUER
QUM Mot \e@®S ?
&) 3

) 5

(B) 4
(D) 1

rldegwendd : (22196680 61 B)@@ 62 AUGD)

§00 G203} CIMlo6s [ (@O0 agM@mOS

UMW ZMOeM).

61. el ar gl asdad alon’ edosamye
moer? oy el EEIoBMmIMOsT.
agml@d, @ Hopld GOeOH of®
&)Sldbalend 7
(A) 29
(C) 31

(B) 30
(D) 32
62. dlmiea quaome amy cudlaied cueimsy aflors
alefloimoa’ apend. oo udloidd epews
40 251800 o, agiwlad, gse mirmas
uodmMe el ?

(A) 25 -00 uodomo (B) 26 -0o quOsmo
(©) 27 -00 qunome (D) 28 -2o0 runomo
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Directions : (Questions 63 to 67)

The diagram given below shows the number of
students who got A grade in three subjects in a
school. Study the diagram and answer the
following questions.

P

English w Hindi

63. How many students got A grade in English
and Malayalam only ?

(A) 11 (B 12
(C) 13 (D) 23

64. How many students got A grade in Hindi

only ?
(A) 65 (B) 61
(© 63 (D) 50

65. How many students got A grade in all the
three subjects ?

(A) 15 (B) 13
©) 12 (D) 11

66. How many students got A grade in English

only 2
(A) 47 (B) 59
(C) 58 (D) 60

ENG+MAL

mldeguemad : (ealvaiemad 63 @@ 67 cuen)

allmowlad erl Ndkidlaa da)Slaaladd ajom
alledem@das A ern aldla] &iSleains
ag)epaosty m@&ldleayma. allimo aidlol
ANAINSQIES C.Al0BGITBRINS DA af) P db.

o

snogflasl w adlad]

63. ogfladimio melogmdiimio Moo A SIS
UOsTA® ag)®d @Glegiend ?

(A) 11 (B) 12
(C) 13 (D) 23

64. odlodiiad aoimo A gral emsSl@ ag)@®

dbiSmalens ?
(A) 65 (B) 61
(©) 63 (D) 50

65. o) Afladwessienio A el ridl gy ng)l_:m
drSlangyend’ ?
(A) 15 (B) 13
() 12 (D) 11

66. noladldd oo A gal emsl@ of®

]S BaIEE ?
(A) 47 (B) 59
(C) 38 (D) 60

P.T.O.



Class - Vili

67. How many students got A grade in

Malayalam and Hindi only ?
(A 11
@ 15

(B) 13
(D) 26

Directions : (Questions 68 to 73)

Read the questions and find out the answers.

68. On selling 17 footballs at Rs. 720, there is a | 68.
loss equal to the cost of 5 footballs. Then the

cost price of a football is :
(A) Rs. 45 (B) Rs.55

{C) Rs. 60 (D) - Rs. 50

69. A rectangular floor 3.78 m long and 5.25 m | 69.
wide is to be paved exactly with square tiles,
all of the same size. What is the largest size
of the tile which could be used for the

purpose ?
(A) 14 cm. (B) 21 cm.
(C) 42 cm. (D) 31 cm.

7Q. Ann does a work in 10 days and Bann does | 70.
the same work in 15 days. In how many
days they together will do the same work 7

(A) 5 days (B)
(C) 8 days

6 days
(D) 9 days

ENG+MAL
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67.

Cc

pewosEmleno adladidiiale A el anSlw
ol® dslemaieng ?

(A) 11 (B) 13

(C) 15 (D) 26

mdegmean® : (8ol 68 a)mad 73 auan)

apnies esosemidlenm ealgemd ardlg)
EDOIQIOS HEDODVO dhEOETBEB .

17 anySeeniogs@d 720 ajalaias allgen o
5 anys GeORIMAINS WNddma allaiien)
@YD MYHQOS Matfsmiensows. agym:ldd
8o} aniseeiodinn @inodmo aflal ag@ ?

(A) Rs. 45 (B) Rs.55
(C) Rs. 60 (D) Rs. 50

almoosaiolengs 6oy ®OWes algo
3.78 digd apeny. poafleadg afldl 5.25 dgd
oo @em. oold ece aelg|ewelas
MDLIGYR OOSEIEUD )@ alodemo.
aimowll ale@orileanoniiam a2 It
aasallen aleaoalwl] dlge ag@ ?

(A) 14 eav.dl. (B) 21 sav.dil.

(C) 42 amo.d. (D) 31 eo.dl.

mmio Aol egoall 10 dlaumvo adoens ool
wldenio. sruom enem amoell 15 dlaimo
OHOBNOEN O2IQIM®. gem emoell
@6M)ealdlo ¢Sl aola] 6.01W®mOT ag)m
dlalme 4068 62 Iwie @flldene ?

(A) 5 dluaosmsgd
(C) 8 dlaurusumsmd

(B) 6 dlourusesid
(D) 9 dlaurustrcd
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71. The average of 10 numbers is 7. If each | 71. 10 Moa)dQIOHS RBOWE] 7 @6, &amo
number is multiplied by 12, then the average Moaje@®io 12 adhiend’ meml.olom
of new set of numbers is : BIElBOIT TVO6L)RINS WRRWE ag@ 7
(A) 7 (B) 19 (A} 7 (B) 19
() 82 (D) 84 (C) 82 (D) 84

72. Consider 3 digitnaturalnumbers. The middle | 72,  ayrmae og}smm% (roo6\dhid aldlcnarilen)d.
digit is always zero and the sum of 3 digits is oElag ow) GreNe alj@jtuio @lom’
always 5. How many such 3 digit numbers BRSHEBHIOS M) of)LI0WeR[0¥lo 5 go
are there ? @RET. HOMAETWLNEE af)(@® OIMEE

) UosY\aleng ?
H(A) 3 (B) 4 (A) 3 (B) 4

< 3 (D) 6 (C) 5 (D) 6

73. If 35% of a number is 12 less than 50% of | 73, ga Moel@IOs 35% agMm@ @RE®

thaf number, then the number is :

b

(4) 80

©

(B) 60

50 (D) 40
Directions : ( Questions 74 to 81 )

In each figure a number is missing. Find the correct
missing number if the numbers follow a pattern.

78 /567|189
? |63
(A) 21 (B) 24
(C) 18 (D) 9
ENG+MAL 19

MooR)OIOS 50% SOOI 12 H)00I06M.
afE:lad muos) :

(A) 80
(C) 50

(B) 60
(D) 40

mldeguersa : (e.oloa emdd 74 o) mad 81 cuen)

2UHSLIEE 86R0 ollmemiale 8r) Mol
afigieatoniigiend. 07 avoaldd 8y atosgerd
mfldalaniomy agasl@d, aflgidalow o)
B OIETBEYE) .

e
\2|¢/ s
(A) 21

© 18

(B) 24
D) 9

P.T.O.
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75.
B 12
(D) 10
76. 8 6 7 5 8
37 ? 47
5 8 7
(A) 50 (B 21
(C) 61 (D) 55
77 415|6
sis|x%
1/18]3
2119872 _
(A) 16 (B) 73
() 76 (D) 94
78. |3]|6|8
5|84
f
41717
JA 6 (B) 7
< 8 (D) 9
79. |A|D|H
F|I|M
K|N|?
‘I{A) D (B) P
{C) R

ENG+MAL
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MAT

75.

76.

77.

78.

79

(B) 12
(D) 10
5

83?4 47

5 7

(A) 50 (B) 21

(C) 61 (D) 55
5|6
3|7
8|3
21(98| 2

(A) 16 (B) 73

€ 76 (D) 94
3|68
5(8]4
4717

(A) 6 (B) 7

€ 8 (D) 9
A|D|H
F|I|M
K|N|?

(A) D (B) P

© R D) Q
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80, % ol o
12
(A), 16 T (B) 18
20 (D). 22
31, 60 99 72
10112] (18|11 719
(A) 20 (B) 16
© 22 (D) 12

Directions : (Questions 82 to 86)

There is a particular relationship between the first
two figures. Identify this relationship and use this
to find out the missing figure from the answer

MAT

figures.

82, Problem figures :
(._"\ - LN ] — * .
Ol O ¥ G B
Answer figures :
<>V A

(A) (B) ©) (17)

83, TI'roblem figures:
W Of-|a 8l.| 4 -7 L
C’f S . D O e L] - % &
Answer figures ! '
o tl[leclleo]llo
¢ | [BkAFS O 8 €
W ® © o

ENG+MAL

(A) 16
© 20 (D} 22
60 99 72

e T PR MEHEE
(4) 20 B) 16
©) 22 (D) 12

midegmema@d : (@alda)arcd 82 a|mal 86 IO®)
@pAeEm o6ra) afimand oalld &o) (o Iew)ds
enicrualens. §00 erumuo amqylendsd allgigalow
allme agy®onemmy ame all(wemgld alory
B EIETIR(OTE ek

82. uwdm nllmemscd :
ﬁ L ] LN 7 ]
CHL OBL W o[ 2
pomn allmard
| <> ) Y A
(A) (B) ©) (D)
a3, ILnJuﬁ"m o limersod -
0 Of.[a Sl.[ 5 ][t ©
c sl'lo ol *-|le a
pa®d alitewrdd :
T IS ELIS O e 0
c. ol {0fa|{A QifA ©
(A) (B) (©) D)
21 P.T.0.
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84. Problem figures:

:

84. (It oNimemadd :

VN

D

&

oMo afimemdd :

-/\;,r'f i\:

(A) (B) © (D)
85. Problem figures :
MW 2

(A) (B) © (D)
85, [Jcdm ofii@enadd :
ALV L2

Answer figures :

VY

/]

(A) (B) © (D)
Problem figures :
AN O

(A) (B) (© (D)
B6. (uwdm ofli@ersd :
A4 D 2

(A)

ENG+MAL

[




	1a
	3a
	4a
	5a
	6a
	7a
	8a
	9ab
	10ab
	11ab
	12ab
	13ab
	14ab
	15ab
	16ab
	17ab
	18ab
	19ab
	20ab
	21ab
	22ab

